

Squaring $-6\sqrt{4x + 13}$:

Squaring $-6\sqrt{4x + 13}$:

$$(-6\sqrt{4x + 13})^2 =$$

Squaring $-6\sqrt{4x + 13}$:

$$(-6\sqrt{4x + 13})^2 = (-6)^2 \cdot (\sqrt{4x + 13})^2$$

Because of the [Distribution of Exponents over Multiplication](#) which says:

$$(a \cdot b)^n = a^n \cdot b^n$$

Squaring $-6\sqrt{4x + 13}$:

$$(-6\sqrt{4x + 13})^2 = (-6)^2 \cdot (\sqrt{4x + 13})^2$$

Because of the [Distribution of Exponents over Multiplication](#) which says:

$$(a \cdot b)^n = a^n \cdot b^n$$

$$(-6\sqrt{4x + 13})^2 = 36 \cdot (4x + 13)$$